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The GPT family of models process text using tokens, which are common sequences of characters found in text. The models understand the statistical relationships between these tokens, and excel at producing the next token in a sequence of tokens.
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‘The GPT family of models process text using tokens, which are common sequences of
characters found in text. The models understand the statistical relationships between these
tokens, and excel at producing the next token in a sequence of tokens.

You can use the tool below to understand how a piece of text would be tokenized by the APT,
and the total count of tokens in that piece of text.

GPT-3  Codex

: indivisible.

Many words map to one token, but some don”

Unicode characters like emojis may be split into many tokens containing
the underlying bytes: @

Sequences of characters commonly found next to each other may be grouped
together: 1234567898

Clear  Show example

Tokens  Characters

64 252

(7685, 2456, 3975, 284, 530, 11241, 11, 475, 617, 836, 478, 25, 773, 452,
12843, 13, 198, 198, 3118, 291, 1098, 3435, 588, 795, 13218, 271, 743,
307, 6626, 656, 867, 16326, 7268, 262, 16238, 9881, 25, 12528, 97, 248,
8582, 237, 122, 198, 198, 4415, 3067, 286, 3435, 8811, 1043, 1386, 284,
1123, 584, 743, 307, 32824, 1978, 25, 17631, 2231, 38924, 3829]

TEXT

A helpful rule of thumb is that one token generally corresponds to ~4 characters of text for
common English text. This translates to roughly % of a word (so 100 tokens ~= 75 words).

1f you need a programmatic interface for tokenizing text, check out the transformers package
for python or the gpt-3-encoder package for node js.
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The GPT family of models process text using tokens, which are common sequences of
characters found in text. The models understand the statistical relationships between these
tokens, and excel at producing the next token in a sequence of tokens.

You can use the tool below to understand how a piece of text would be tokenized by the API,
and the total count of tokens in that piece of text.

GPT-3  Codex

Goals:

A lot of online services (see tasks) should be generated based on data
about ingredients in different foods.

These services should have a business model basing on micro payments in
frame of a web shop.

(The web shop is not part of the project.)

Tasks: -
It is necessary to create an evaluation service where e.g. a set of 4
Clear  Show example

Tokens Characters

251 m

Goals:
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A helpful rule of thumb is that one token generally corresponds to ~4 characters of text for
common English text. This translates to roughly % of a word (so 100 tokens ~= 75 words).

If you need a programmatic interface for tokenizing text, check out the transformers
package for python or the gpt-3-encoder package for node.js.
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815, 367, 7568, 1912, 319, 1366, 546, 9391, 287, 1189, 9013, 13, 198, 2

4711, 2504, 815, 423, 257, 1597, 2746, 1615, 278, 319, 4580, 7524, 287,
5739, 286, 257, 3992, 6128, 13, 198, 7, 464, 3992, 6128, 318, 407, 636,
286, 262, 1628, 2014, 198, 51, 6791, 25, 198, 1026, 318, 3306, 284,
2251, 281, 12660, 2139, 810, 304, 13, 76, 13, 257, 900, 286, 2092,
2057, 357, 2339, 27384, 274, 8, 460, 307, 3688, 287, 281, 3098, 12,
15410, 3036, 259, 876, 835, 357, 3826, 25, 1868, 318, 11, 644, 318,
262, 1266, 1720, 329, 1948, 9027, 29865, 198, 10044, 29363, 11, 257,
2139, 7679, 481, 1164, 257, 1611, 286, 2756, 14, 26585, 3781, 13, 198,
39914, 41446, 329, 2057, 22423, 318, 635, 2622, 416, 262, 1103, 4297,
13, 198, 21745, 276, 2628, 14, 23144, 364, 25, 198, 35, 1155, 5139,
6154, 198, 9444, 31268, 198, 24602, 3227, 6154, 198, 18274, 2410, 25,
198, 464, 898, 16363, 12, 48806, 286, 262, 1628, 532, 27890, 357, 1662,
7824, 12, 3106, 8, 532, 19847, 257, 4047, 6942, 1895, 284, 1163, 1366,
357, 66, 13, 69, 13, 810, 777, 1321, 1379, 74, 1586, 2594, 787, 1744,
284, 4646, 262, 640, 329, 1366, 4947, 9621, 737, 198, 464, 898, 30063,
T Tiocenins 13+ 79, 13, 327, 12, 21886, 12, 3106, 3098, 12, 42723,
s0uv1, 2vw, 14, 273, 2756, 14, 26585, 13523, 8, 44234, 5789, 8292, 351,
1692, 6154, 13, 198]

A helpful rule of thumb is that one token generally corresponds to ~4 characters of text for
common English text. This translates to roughly % of a word (so 100 tokens ~= 75 words).

If you need a programmatic interface for tokenizing text, check out the transformers
package for python or the gpt-3-encoder package for node.js.
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Tokenizer

The GPT family of models process text using tokens, which are common sequences of

characters found in text. The models understand the statistical relationships between these

tokens, and excel at producing the next token in a sequence of tokens.

You can use the tool below to understand how a piece of text would be tokenized by the APT,

and the total count of tokens in that piece of text.

GPT-3  Codex

Many words map to one token, but some don't: indivisible.

Unicode characters like emojis may be split into many tokens containing
the underlying bytes: §

Sequences of characters commonly found next to each other may be grouped
together: 1234567890

Clear  Show example

Tokens Characters

64 252
Many words map to one token, but some don’t: indivisible.

Unicode characters likelemojis may be split into many tokens containing
|'the underlying bytes: 040909

Sequences of characters commonly found next to each other may be grouped
|together: 1234567898

TEXT  TOKENIDS




